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Algebra I Team Questions
Question # 1    Let A = the slope of the line 
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Let B = the x- intercept of  
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Let C = the y- intercept of 
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Let D = the number of the only quadrant that the graph of 
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What is the simplified value of the expression:  
[image: image5.wmf]BD

AC

+

-


Question # 2           Simplify each of the following expressions and then find the value of 
[image: image6.wmf]54

2

2

BC

D

+-

+



A = 
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B = 
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C = 
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Question # 3  
22 is A% of 55; 

12.5% of 56 equals B;
90% of C is 36.9;
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 is equivalent to the simplified fraction 
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     Find the decimal value of the expression 
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Question # 4
Find the value of 
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· the value of r such that this system is consistent and dependent: 
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· the value of k such that the line containing (3, -4) and (k, 5) has slope of 
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Question # 5
A store sells bicycles and tricycles.  Between the bicycles and tricycles there is a total of 176 wheels 
and 152 pedals.  How many bicycles are there?

Question # 6
If  p ☺ q = 
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, what is the value of  (8☺4) ☺ 10  ?

Question # 7
Find the value of the expression 
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B:  
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Question # 8
A = the value of x for which 
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B = the number of digits in the simplified value of 
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C = the sum of the 4 integers which are the values of x such that 
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D = the value of 
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Find the value of 
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Question #9
Assign these values to the 4 systems below:

 2 = the system has only one solution









 7 = the system has no solutions









-3 = the system has infinitely many solutions
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     C:  
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What is the value of the expression BC – A + D  ?
Question # 10
Find the value of 
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A = the positive exponent of x after simplifying 
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B = the coefficient of x2 in the product 
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C = the sum of the coefficients of 
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Question # 11
Simplify each expression, and find the value of 
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B = 
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Question # 12
Two whole numbers, neither containing any zeros, have a product of 1,000.  


What is the sum of these two whole numbers?

Question # 13
What is the point of intersection of the lines   
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Question # 14
Given the quadratic equation  
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What is the sum of the discriminant and the larger root? 

Question # 15
What is the sum of the integers in the solution of   
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